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grad f=V-f = [zi+ i-{-k )(4x +4y* - 7%)
=Y AL P
=12 (a2 +4y? —z2)+j[—q-4x2 +4y? —ZZJ P2 (452 + 4% — 2
ox : oy . ‘ 0z .
"= i(8x)+ J(8y) + k(=22)
- grad f=Vf= 8xi +8yj — 27k
Vf1 0,2)= 8x11+8><0] 2x2k = 8i - 4k
- St =t ﬁ'STl | 'saa'r.«,‘ wfeer (Unit Vector in the Perpendlcular Dlrectlon)—
" gradf 81 — 4k
P
lgrad f] ~ V82 + (—4)?
L 84k _8i-4k _8i-
. Jea+16 B0 45
e 9fe®r (Unit Ve;tor) A

Js
1 37
W¥T 40, 3MTE A = |4 2 3| ﬁﬁm&ﬁmuﬁmmﬁﬁﬁlwﬁsﬁﬁma{gA
(1.2 1)

Wit H e & g a9r A7l iﬂ?f it -vi [UPBTE 2023]

F—aTgg A &1 A&t (Characteristic) THIHIT |A — Al| = 0
1-A 3 7 ;
| 4 2-2 3 |=0
1 2 1-A

YER & W, ‘

A-D[R=-MNA=M-2x3]1-34x1-2A)- 3><1]+7[4><2—1x(2 MN]=0
(1_;\')-(2_2;\‘_)\’4_}&2 6) —3(4 - 40 -3)+7(8 - 2+A)=

A=) (Br+A2-4)-31-4M)+7(6+2) =0

BA+A2 -4 +30 2 A3 +aA-3+ 120 +42+ 70 =0

A +ax2 £ 200 +35=0 w(1)



[28] 3TIWgw MIUTE-INI

oz T A ST whE (1) B A @ A
—A% + 44% + 204 +351=0

137|137

AZ=A-A=|4 2 3|4 23

-2 1f[1 21

[Ix1+3x4+7x1 1x3+3x2+7x2 1x7x3x3x7x]
= |4x1+2x4+43x1 4x3+2x2+3x2 4xT+2x3+3x1}
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